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Ms. Donna Searcy FEDERAL COMMUNICATIONS COMMISSION
Federal Communications Commission OFFICE OF THE 3ECRETARY
Room 222
1919 M Street, N.'W.
Washington, D.C. 20554 /

Re: Data Request in CC Docket No. 92-24
Local Exchange Carrier Line Infermation Database EX PARTE

Dear Ms. Searcy:

The Southern New England Telephone Company (SNET) is providing this
response at the request of Dr. Chris Frenthrup.

I am filing two copies of this letter pursuant to the requirements of Section
1.1206(a)(1) of the Commission's Rules.

Respectfully,

LRy Bl V‘(\\N\
Rochelle D. Jones *"\
Attachment :
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FEDERAL CONNUNCATIONS CONMISSION

. CRETARY
The following is SNET's response to an informal data request by Dr. Chris Frenthrup %‘CEGT“E*

Ms. Wendy Bluemling regarding SNET's LIDB rates.

ISSUE:
Please explain why SNET's plant specific factor is very close, but not exactly the same as

SNET's ARMIS Plant Specific factor.

SNET RESPONSE:

SNET's LIDB plant specific expenses are for the Right To Use (RTU) fee associated with
the port. SNET divided this RTU fee by its port termination investment to generate this
service specific cost factor. It is only coincidental that the factor closely approximates
SNET's ARMIS plant-specific factor.

ISSUE:
Since digital technology is being used to provide SNET's LIDB service, why isn't SNET

reflecting a shorter depreciation life (higher depreciation factor) to reflect the use of this
technology?

SNET RESPONSE:

SNET develops depreciation rates for specific classes of plant for use in SNET's economic
cost studies. In the development of LIDB rates, SNET used the average service life of
eighteen years for the "ESS Digital" class of plant used for the port investment. SNET
could have considered a narrower class of plant , more specific to the port investment,
which would have shortened the economic life used in SNET's development of rates.

ISSUE:
Please explain why, as shown in SNET's March 23, 1993 Ex Parte, the federal income tax
factor did not change when the net return changed?

SNET RESPONSE:

SNET agrees that federal income tax (FIT) would change when the net return changed,
however, SNET's March Ex Parte was provided to provide an explanation and an
example of the difference in direct cost factors between embedded and prospective costs.
SNET's example was provided to illustrate why ARMIS factors cannot be used in
comparison with prospective cost studies. For simplicity, SNET adjusted the net return,
based on the net to gross investment, as an example of the difference in direct cost factors
between embedded and prospective costs but did not adjust all the factors (i.e. FIT) to
reflect the change in net return. A change to the FIT would be proportional to the change
in net return, as Dr. Frenthrup expects. As shown on the attached, with these changes,
SNET'"s direct cost ratio falls even further within the upper limit.
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